EARAROBREBRT —5 XN—ZXBISH—F

2022518208 (R) 1MEIEI4E

ﬁiﬂ]S 0059 VR UYSR3IRK BRI R
[AXE%) 1% :1,500,000  ~ 23#&:525,000 ™  337%:300,000H . 43#&:225,000H 5 3i&:150,000 9
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
PSS~ s 3 | HEHE 47.9 2-2 3.8 — 1 493 | /MAIRE (AR
1 8|7V 54.0 (=) (7) | EHER
R:AY—RIT7ILIY B:SvFE—/VML [=Fe]
S sy s 3 | HOEERONE 48.1 1-1 3.2 — 2 | 452 |HOZE GBI
25| oA A 54.0 @172 o | AR
RXYUSTyik B:E1—FT HIS5Y BiE B®
3~ ~ it 3 | AREREES 48.6 6-3 3.1 — 6 500 | R&IIZ CE)
3|8[12(A¥YIFYY AT @172 7 |LEBES
RTSYTURR B:FI4HRNUT BRI
4 3 | SREtE 49.0 4-5 36.6| — 5 468 | EH—RI CG#E)
4|8)11) =L 2L %.0 @ oy |mPEm
Rib—trya—sy B:=TRAIU—V YVAYITT—LI
=5 _ i 3 | BRE 49.1 3-4 7.0 - 4 | 452 | KFEE GEFD
5|5/ | AT 54.0 ) (-15) | BEXS
RibwFO—)LR 8:h2AH—F Sk —His
0, — FUTTHIAL . - . - @R CAfD)
610119290 =v0 ® 3 | U5 & o Py ke
RINSVEYR BEIZvISVF wE A
== t 3 | 8% 50.1 9-8 7.0 - 12 | 409 |E@WE CEFD)
7 7| SIWTa— * 54.0 ) ) g‘g—yg\yp (%)
RiR—ANR B:RFA—ILYv—T fEHE E#
== 4 3 | BIHER 50.2 7-7 37.4| — 8 451 | BEH—AI GERD)
s Y3 | YN 7= 54.0 ZE) Cn | TEEES
RiTT/—=X/) BIF7FT+Y EI e ]
o3y~ 4 3 | EEX 50.3 8-9 37.2| - 7 480 |FEES (ET)
9 2| BATVIVT 56.0 (3/4) +8) BT
RiboPO—ILR B:D9UTFUIER H &Hx
s o EEER . - . = FOBE(Z At
10)7] 9 | B¥/Un/U— e 5o | 0 P 5 |
R:Z2MOAVIFUI—Y B:UTFAAI4T Gl e
T FEEA . - . - waiSE Caf)
170l Pov RO TUF 3|58 5(13)0 12-11 | 37.1 1 18)9 ot
RBOYRRIVT—/ BHYOYREZA e
=43 3 | BREK 51.1 10-12 |38.0] — | 10 | 510 |BEESfT G
12 4| 72va A53.0 1/2) (-6 |TFHE=D
RNRMOD YN/ BYTF— hIR4i5
@ 11— —®BIEfI
13—7+—
20—7F—
30—7— 5,8,6,11,1,12,3,2,7,4,9,10
43— — 5,8,12,6,11,1,3,7,2,9,10,4
o ILRE
B B 8 1804 JA R 5-8 190H % 5E 5-6 2304 3EE 5-8-12 1,460
7B B 8 120 8-12 7708 B 6-5 460 3EH 8-5-12 4,560
5 110 5-12 930/ /B & 5-8 330
12 3904 =51 8-5 440M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




